'CCE SAMPLE QUESTION PAPER
. SECOND TERM (SA-ID)
- SOCIAL SCIENCE .

L (With Solutwns)
CLASS X

(a) ng of Netherlands ™.
_' (¢):: Duke Metternich
Ans. (c) Duke Mettemrch

B Why was Tonkm Free School started in 1907 m Vxetnam ?

~ {a) To provide modern education. . 5

* (b). To provide western style’ educatlon _
- {c}. To provide education to Vietnamese bhly .
(d). To prov:de education to Freneh chlldren
Ans (6} To prov:de ‘Wwestern style educatlon
QL2 In 1917 Gandhm “organised & Satyagrah to support thc ‘peasants. of h"
Kheda dxstnct for .
“*'(a) Remission of'loan
_ (c) Grant: ofloans N

- (b) Remlssron of revenue

(Ff)_ Limestone *
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Q. 1. Whlch orie of the foilowmg cities has emerged as the ‘electronic cap;tal’ of
o Indm 2 .
(r:) Delln
- (e) B'mgdlou, SRR
Ans. (cy Bdng'ﬂora : _
. Q5. Trade between two countl ies is called R S
~ (e) Foreign Trade o (b) National Trade
: (c} International Tradc o (d) Stdte Tl"ldc o
Anisi(¢) International Trade: - . - : L
o QU8 I which! one of the followmg states does ‘Shw Sen
S pohtlcal party._ R

B Kolkata®
H (ci ). _Hydetz_ﬂ_q_ad..-

_exist 4s a regional

. {d} _\Iadhy’t Pradesh

o -'accounts 2" -
(a) demg account‘.

' (¢) Fixed deposws fof long period -
'ﬁ:i__ (d) I‘n:ed depoqlts for very short peuod

century, It'xly was- dmde
Itahan prmccly house _

o (iv) Cavour became prlme mm:sber of Pledmont in 1832. He reorgamsed its army anci it:
L achieved rapid growth in materlai prosperlty Through a tactful d1plomatlc alliarice "wrth_
.- France, Sardinia-Piedmont succeeded in defeating the Austrian forces in 18’39 With the he pof
. Garibaldi, Cavour was ultimately successful in the unification of Italy under kmg Vietor:
_.’-_"Emmanuel IL. He, however, died on June 6, 1861 before the completion of the umf’catmn"of
L Italy in 18:0 However, his contribution in the unification was great : :




RS Descnbe any three 5teps taken by the French to develop agr:culture in V’etnam
oo Ansy {:} Like other European countries, France too considered colonies necessary to suppls
-~ . natural resodrces and other essential goods The French heg'm building canals and draining -
. lands'in the Mekong delta to increase cultivation. A vast system of canals and earthworks was..
o : bmlt mainly with forced labour; As a resulf of irrigation works, the | rice productmn mcrcased
' - (ii): Rail and’ port facilities were set: up.to serve the agricultural sector..: RERE
(:u} Indentured Vietnamese labour was widely dsed in'the rubber: plantatlon '
' Q 11 Why did nationalist tensions emerge in the Balkans 7.
~ Ans,: Nationalist tensions emerged in the Balkans due to the fol!owmg reasons @ . -
e (0 Alarge part of the Balkans was undeér the control of the Ottoman Emplre However
- with the: weakemng and dlsmtegratmn of the:Ottoman Emplre the- nationah‘;t teasions -
'emerged in’the: arefx Its Eumpe'm snbject n‘xtlonalltw‘; bro!\e away and declared thel FR
o mdependence' R L
(i The people of' the Balk‘ms argued that they wefe oncée mdependent before the forelgn T
"t ‘powers. controtled them. So their object was to regain their lost independence.. . - o
ST Nationalist' ténsions: emerged die to rivalries of the: European’ powers ie, Russ:a
- 'Lngl'md Germany, Austria Hung’:ry All of these powers wanted to have theu‘ control due to.__
. ome reason or the other : : :




- participate in it. Sd"ﬁeg'otiations' between Congress and the Viceroy took place that led to
- Gandhi- Trwin: Pa{,t on 5: March; 1931 By, this Pact; Gandhiji consented to participate in the -
- second Round Tablt, Conf'erence in London and the government '1gned to. rele‘tse the pohtlml_“-'-'_
prlsener' ' -
QU180 Why 15 iron ami steel :ndustry called the bas:c mdustry ? Explam any three_ :
. réasons.: i : 13y
"Ans. Iron and stee! mdu‘;trv is (.alled the basrc mdustry duc. to the follewmg reasons: . -
... (i} All the other. mduc;tnes—he'wy, mechum and hght depend on 1ron 'md steel mdustry_
+ for theu‘ machinery. = 7 i : - Lo e U
(i) Steelis. needecl te manufacturc a \artety of engmeermg goeds L PR
s i) Steel i3 necessary: for; construction, defence rned:e'li telephone, 5uent1{'e eqmpment-ﬁj
L "md a varlety of consunier and household goods.: o ST el
R (1) X Produetlon and Lonsumpt!on 0(‘ stcel 15 eff.en regarded as: the 1nde~: OE a countrys:.
: -_-"development A :
- Qa4 Explam the 1mpmvements made by the Inthan Rallways in 1ts functmmng
e Ans. 'I'hc nnprm le.ntb made by the. _ndmn Ratiw '1y3 in nt,a funttmmng are as' mentmned
below' e SR

: ;'in'd dumnts of‘ the air transport are ab N
(a) Meritss " 0 T e

An = We neec_l to conserve mineral resources due to the reasons ds mentioned below
( Our mdustry and’ agrleulture depend on mineral deposxts and the substances man
n ﬁctured f'rem them But the total volume of workable mmeral deposits is an ms:gmt' cant
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ﬁactlon L.e.,; one;per cent of the ear ths, chst I!; tonk mllhons of vears for the ueatlon an
o com,(.ntratmn of mmer‘tl resotirces. The geological processes of mmeml furmqt:on is ve
but its consumption is fast. It may’ result i bhortage in pear futurei :: ;.
e e (bY The: mineral resources are finite‘and non-renewable. Even’ ::ch mmetai depom
e country like India are valueable but short-lived possessions. L
LY (¢} Continued e\tractmn ‘of ores:leads:to incredsing costs: as: mmeml e\tr'lctmu omes-
o from greater depths. At the same time; its quality also decreascg.. :
1 Q7. Describe the ‘second popular movement. for democracy’ of Nepal :
3 ~Ans:’ (a) Causes for popular mavement in April 2006 : Democr acy was established in Ncpql '
. in:1990: King Birendra: formally remained Head of the- staté, but real power w as exercised: by
 the' elected- representatives: Tt wasia ' transition’ from’ absolute: monar chv to’ const:tutmn'xlﬁ_ _
monarchy: However, after the massacre of the:royal family in 2001, ‘the new: Kmﬂ Gyanendra
L was hot ready to accept: the demoeratic rule: In- February 2005, the: ng dlqrmssed the: then‘-
© .. Prime Minister and dissolved the: popularly elected: Parliament and assutied all:powers; o2 . .
R (b} -Aim' of the:movement v The mmemcnb W'IS 5tartccl it April: 20{}6 to’ reg'un-i popuiar_"'--._'.'_'
contmi over thc: govemment f'rom the, kmg '

ry slos

Ans. Pressuré groups and movements exert influcnice on' politics in'various ways :
(1) Informatwn campatgns orgamsmg meetmgs, ﬁh, petltmn% Pres:e,urc grc

: 1al lobbyists or sponsor expensive adver
' They pdrtlcxpate m ofﬁcml Bodies and ‘Committess that off'er advme to the govcrn

. _ntm U e" m s strengthenin
federallsm and democracy in India ? Explam wnth e\amples. R '
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Ans.Apart from six: natlonal part:es most of thc pohtlml parttes are clasmﬁed as: state
' parties’ or regional parties; But in fact these are not regional in their- 1ds.olog}' or outlook; Sowme
" of these parttes are all India parties that happen to have succeeded only in some states: Partie:
- like the Samajw adx P‘u‘ty anci Rashtnya Janata Dal have atmnal lew el orgamsatmn w;th umts
. in'several states. _ : : _
s I the past three déca es, .the number and’ strength of these parttes hf:c; e\:panded 'I‘Iu
_* made the Parliament of India: politically: miore and more diverse:: :
-kl The 1rnportance of regional parties has increased betause no n'ltlonal party is dble to secur
" on’ifs own-majority. in: Lok Sabha. As a result of it, since 1996, nearly every one of the State”
. parties.. has got:an® ‘opportunity to.be a: part:of one:or:the: other:national . level: coalition-
government ‘This has contributed. to the strengthening of fedéralism and democracy in Indid:
Q200 “Information: and: communication: technology. has: played 'major: role in
spreadmg out products ‘and services across countries.” Support the statement. " (3)
" Ans. Information and communication: technology. has played a major role in fspre'ldmg out”
B 'pruductmn of  services: across ‘countries. In-recent times,technology:in- the: areas: of -
o telecomrnumcatmns. computers, Internet has been changing rapidly. Telecommunication facilities |
L= belegraph te!ephone including mobile phones; fax-—are used to contact one another aroundf
o _'the world, to acéess: mformatton mstant!y, and to communicate from remote areas, Computer' '
.- have’ now entered almost every Feld of activity, Internet’ enablés you to ‘obtain: and shar
" information ot almost everythmg you want to know. It also allows to send' 'nstant e!ectrom
R maxl and talk acruss the. wor!d at neghglble Lost :

. emphamsed the ndtlon of & united commumty en_loymg :equaLr;ghts under_ '
(i) A ne_zw Frcnch ﬂag, the tru.oigur was (_:hOSCI_'I_.:tO replace the earher royal.stand

. nation. Reg:onai dialects were dlscouragec}. .
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o (t) It was dec1ded that the' I‘rem.h nation wauld l;hcrate the peﬂple% of l"urnpe f'ro:
B despottsm and help other peop]ea to bccomc namon% Tl cE DS
o Descmhe th views: of: Paul Bcrnard on: the qucstmn of deveIOpment of the "
_ "."_"colomes Wha!: steps were: taken by the French to improve the economy of V‘etnamf'
.. and what were its effects ? B : . S
R . Ans. (@) Generally, the Lolomes ser\«cd the mteres{q of the mother countxy Paul Bernard
beheved that the economies of th&. colom should he dewe!opul hecauc;e the abin of acqmrmg
'Zcolomeswas to'make profits: F e R 8
- (b): According to Bernqrd thele“cie fol!nw :ng b'lrrler&. to the ecunomu. grrowth ofthn’nn D
(i) High pupulatmn levels P B
(if) Low agricultaral productivity.
fm} Extensive indebtedness amongst the peaqantq{ . D . -
c “(e)” He guggested that in;order to reduce rural povertv ‘md increase ‘agricultural pr oduc-
e tmty, land reforms as well a8 industrialisation wads necessary tocreate’ rnm_e_]ﬁbs “The Flemh o
- however, did little to industrialise the Lconomy because the colonial econionty’ in Vletu'tm was..
3 . "'pnmarﬂy basecl on rice cultivation and rubber plantatmns ‘ownied by the I re,nch and asmall o
N Vletnamese ehte The I‘rench set:up r'nl and port f‘ac;lltlcc; for th ‘séctor only. Indenturs.d..__"'f-
' ' ' : ' the"ff":emh (I:{i llttlf, to-'f.

CviAnss (a) Allard Sitaram Raju was the person who led the militant gucrrllla movement in the

: Gudem Hills'of Andhra: Pradesh against the:British govemmem The colonial goveérnment had’
< elosed Iarge forest areas, preventing people from entering the forests to'graze their cattle,'or'to- "
- - collect fuelwood: and. fruits: The liveliliood of the people was affected: Their traditional rights’ "
- were also being deniéd. When the gmemment bagan f‘orung them to contribute begar for road;

';'bulldmg, they revolted: e -
S (b)Y Raju msptred the peop!e by chm‘ung that he hq(i a var 1eh ofspeual posvers. Such as’
that he could s survive ‘even: bullet shots: As’ a: result of it,” the rebels: proclmmcd that he. v.ac'{':
- incarnation’ of, God. He talked of the' greatness: of Makiatma Ganc_llu and. said’ that’ he wa
: mspn‘ed by the Non—Coopemtmn Mov;ment He perauaded people tow car I{hqu Howm cr, hi
at the same. time assérted, that, Fndia could be I:berated only by u e of force,: Pcople 1ttacke
" pohce statlons and Iulled the Bntlsh oﬁ'cm]s R"lju was’ ultmntely captmed and executed

___ Q 24, Why is: conservatmn ‘of: mmeral resources essentlal

_methods of | conservmg mmeral resources.. ;.. .- e :
' Ans.- (a) . We need to conserve mineral resources due to the re*tqcmq s mt,ntmned beI(J"
_ -.._-.j_i._Our mdustry and’ agrlcultuu. depend on: mineral deposits and the substances m'muf
. tured f'rom them But the total volume oi‘workablr_ mmt_r'li depostts 1% an mslgmf'cant f: ru,tm
[ Le, onc per ccnt of the mrths crest It touk rmllmns of years for the creation and r.onccntmtlo

Explam any- three’




" of ‘mineral: resources The geologlcel processes: of mmeml f'ormatlon a8 very slow but its
.’consumptxon is fast:; It may result in shortage in near future, . e
-1+ (b)Y Three methods of conserving mineral-resovrces are as mentloned below

i(£):The resources should be used in a planned and sustainable manner.

H(N Improved technologles should be’ constantly evolved:to ellow use of !ow grade ores at- _
K Iow costs. - S '

= L) Recychng of‘ metels should be done e
__.'___(z'o) Scrap metals and other substitutes should be used SR

. Qes Explmn any four weys in which democracies have.been able to reduce _
.. inequality and. POVEILY, i T b (5)--
- Ans. Four ways to reduce mequahty end poverty are as menttoned below L
. : (:) Democrames are based on pohtlcel equahty All mdmduals en_|oy nght to vote w1thout
"eny discrimination. - EEERRE SRR L e - L
Cnn i) Ine democracles, equel treatment' -md respect to Wormert; 1 has: bee _acccpted' It has
beoome easier for ‘women {o struggle against drscrxmmatlon and 1nJustlce - T

R (m) Smnlarly in. Indle dlsadvantaged and’ d;scrlmmqted cestes have been granted eqml
o ‘status, and’ equai opportumtres Discrimination. on. the. ba51s of caste,. rehglon sex has be
 banned. Seats in the legislatures and. t_he locai bodres Lo Mummpahtres and Panchayets have
o been reserved for. SCs, OBCsand S’I_‘s : : .- :
RN () R:ght to work has been grante in rira arcas under NREGA' People who are wlllmg
R to work are given work for a fixed number of days in a year:. _
R Q 26. ‘Give mer:ts and dememts of different types o f'party systems 1 e
system, bl-party system and multl-party system. :

0 e-party

ar ken qurckly and efficient Vo
- {u} Dements It is. egamst pr1nc1ple of democracy There is no democratic option before
o the voters: There is no compehtlon'end the smgle party essumes dlctatonal powers as 111 Chma
“op USSR ; S s

R ) Bx-perty or: two-p: : 1t gives f‘alr chance for the comp tmg
;':.' partles to come to power Generally, one party f'orms government and the other party sits in

s (EH) Dements ‘Unider bx—party system 1deolog1cal dxfferences are restncted . So, each party
behaves 1n an 1rrespon51b_le way by presentln g very popuhst rnamfestos;'

'_system'creates mtemal checks and balences w:thm a coahtron governmen :
(u} Demen '

QZ'?. Wluch government body superv:ses the" funetl. n.mg' of formal sources
o loans in’ Ind:a ? Explam 1ts fun ' -

(i) The' RBI momtorsf that the banks actually mamtam the reqmred cash ba!anc




_ -;:_-.(u) It sees th'lt ths. banks give: lmns notjust to pro{'t-makmg busmesses
alsn to, smail cultivators; smail-scale industries; small-borrowers. . .

i (E) < The banks submit information to the RBI about loans sanctmned to different eatego-
. ries'of persons alongwith terms and condxtlons ofthc loans In thls way, RBI sees that the lo*ms
'- 3-_"are sanctloned to all including the poor.: . - : : Dl

' - (¢} The supervision of-the. Reserve Bank of Indm over: the functiomng of‘ the banks 15"_ -

'necesqary It is to know How much the banks are lending, to whom and at what mterest rate. It .

__xs to ensure that the banks do not e\.plort the borrowera dike the moneyle.nders m the rural

zm“d' tfade’rs b"'u't

'Q 28 “How has foreig‘n trade been mtegratmg markets of dlfferent coun nes'm the R
orld ? Explam with examples. - ' SRR - SR SR U
o ' t is valuable for the consumers as Well as pmducers 2 R G I
§ " Ans: (a) I‘orelgn trade leads to integration of markets across cotntries. because ﬂ: cre‘ttes an.’ '
opportunity for the’ producers to reéach beyond the domestic markets ie., markéts of their own S
- countries: Prodiicers can sell their productq m thc markets of thexr own country aq wcll asin -
S other dountries all over the world. RN SENRE e o
' (b} (c) Valuable for the consumars : It; is uscful o, the consumcrs or buvcrs because it
alinws them to have 2 a chioice between’ the goods producnd in dlﬂ'erent parts of the world. It: B
"+ enables the corisumer to buy according to his. requ' ement. For exarple; the Indian market i -
flooded w:th Chmese goods: that has allowed the consumers to hdve a chmce 'mmng dlﬂ'erent_':'-': 2
3 goodq : _ | Lt
o (u);_ Valuable for the producers Sometimes the 'producers oi other countms set up _;omt
ventures as AIG have set up Jmnt venture in insurance sector and are selling their products in .

- India: Such actmtles Iead to mtegratmn uf m-lrkets Across countrles and brmg them closer to';'.-'_' i
l'each other ' S e L ' '-

vant developing countries to liberalise’ th de’ and

mveetment 6 that they may ‘sell thelr surplus products at low prices in these countnes For:.
.;;."e\ample Chmese toys are being 1mported and sold in the Indian markets In'this way, varlouf;_"'
* dompani f the developed countries' make huge: prof' ts. These compames 'set up factorles i
~the’ developmg countnes due to the avallahlhty of' che'lp Iabour whlch teduces the coat of .
_"productxon and increases their proﬁt A o Tt
w0 (B): However, the developed countnes have thur own' mterests 'md are bmsed agmnat the"-
'developmg cnuntnes For e\ample, in the US massive sums of'1 money are paid to the’ agrlculture g
* sector for production ‘and exports to other countries  at low prices. On the othér hand, the
N developmg countmes like India have been asked to put’ restnctmns on the provision of subsidised -
* foodgrains. Thisi is ‘unfair for the developing countries; who should a(sk the developed countncs’-..
" to have free and_ f air trade in the world and plotect tI'lEII‘ 1nt<.rests :
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- Q.30 (/) Two features (A) and (B) aré marked in the given political outline map of
.:_ Incha Identlfy the‘;e features with' the: help of the foilowmg,mformatmn and: wrlte
. their correct naries on the lines marked in'the map ::o0: 0 0 0 - @x1=2)
i (A The place, where the Indmn Natmnal Congress Scssnon of September 1920
:was held. S :

(B)"'-' Thc place'fwhere the movement of Indugo Planters took place. e
D ._Locate and Iabel the followmg features w:th appropmate symbols on the same
political outline map of India : -

- {i} Amritsar : The place of Jalhanwala Bagh mcldent. Lo
{u} Bardoh ‘I‘he place where no tax campmgn ‘was held. _ el

. X W .
-':-'*"./"3 N
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‘Ans. The phces areas mentloned below-"
‘(A) Kolkata"
(B} Champaran
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. Q.30. (ii) Three features (A); (BY and (C) are shown.i in the. gzven political outlme
o map ‘of India. Identify these features with the help of the following mfurmatmn and
o 'wrxte their correct names on the lines marked in the map : SRR
: .:E.' {A) Mica mines O
' (B) A Software Technology Park

() Sﬂk texhte industry - S
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_ On the same pohtxca outline map-of Indm Iocate and Iabel the followmg 1tems
o 'w1th appropriate symbols :- e A RRET i '

" {i} Bhilai - Iron and Steel P!ant

(i) Kandla Port -
(m} Synthetic Textde mdustry '
-:-Ans._..Se_e_ the map given below : .~
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